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- ��� �.1.1-14:2012 «%>?44 F4 7<VEF 45F4?L=>7> ??4=G F5D<F>DVW» 6V4 12.03.2012 No 107; 
- �5D646=<E E4=VF4D=<E ?D46<? ??4=G64==O F4 745G4>6< =4E5?5=<E ?G=>FV6, 74F65D465=<E 
=4>47>< �V=VEF5DEF64 >E>D>=< 74>D>69O '>D4W=< 6V4 19.06.1996 No 173; 
- �4>47G �V=VEF5DEF64 D57V>=4?L=>7> D>76<F>G, 5G4V6=<FF64 F4 6<F?>6>- >><G=4?L=>7> 
7>E?>44DEF64 '>D4W=< >�D> 74F65D465==O �>DO4>G =444==O <VEF>5G4V6=<E G<>6 F4 >5<565=L 
745G4>6< 75<5?L=>W 4V?O=><, WE E>?44 F4 7<VEF= 6V4 07 ?<?=O 2011 D. No 109;  
- �%&' � �.1.1-17:2013 «'<>6=V ?>7=4G5==O 7D4DVG=<E 4>>G<5=FV6 <VEF>5G4V6=>W 
4>>G<5=F4FVW» 6V4 01.04.2013 No 119; 
 

1. �$�%&�$���-����'���,�� �$������&�/ &�$�&�$�� 
 

1.1. %<FG4FV==<= ??4= 
 

%FD<=  4 <VEF> 6 '>D4W=V, 44<V=VEFD4F<6=<= F5=FD %FD<=EL>>7> D4=>=G F4 %FD<=EL>>W 
<VEL>>W 7D><44< �L6V6EL>V= >5?4EFV. �4<= V7 7>?>6=<E F4 =4=5V?LL<E FD4=E?>DF=<E 6G7?V6 
74E>4G '>D4W=<, 646?<6<= 5>>=><VG=<= F4 >G?LFGD=<= F5=FD �L6V6EL>>W >5?4EFV. �VEF> 
D>7F4L>64=5 =4 ?V6><G 55D57V DVG>< %FD<=. �4E5?5==O E>?444T 60 F<E. >EV5, ??>M4 4 16,95 ><². 

�V4?>6V4=> 4> 4DE5>?>7VG=<E 44=<E ?>E5?5==O 6<=<>?> G 446=L>DGEL>G 4>5G. �5DL4 
7744>4 ?D> <VEF> 44FGTFLEO 1385 D>>><. �65 F>4V 6>=> 7744GTFLEO O> F5=FD 6>?>EFV. ' 1431 D>FV 
<VEF> >FD<<GT �47455GD7L>5 ?D46>. �=4G=5 7D>EF4==O %FD<O 6V45G64?>EO G 4DG7V= ?>?>6<=V 
XVII EF>?VFFO, E?D<O6 D>76<F>>6V <VEF4 >>?<L=V= EFD<=EL><= EF4D>EF4, 4 ?V7=VL5 >>D>?L 
�>?LMV /= III %>55EL><=. ' FV G4E< <VEF> <4?> F<FG? «�V?L=>7> >>D>?V6EL>>7> <VEF4». 

�VE?O �5DL>7> ?>4V?G �>?LMV <VEF> 6V4V=L?> 4> �<?5DVW �45E5GD7V6, 77>4>< �6EFD>-
'7>DEL>4 V<?5DVO. � ?>G4F>>< �5DL>W E6VF>6>W 6V==< %FD<= EF4T <VEF5< =4D>465==O ?57V>=G 
'>D4W=EL><E EVG>6<E EFDV?LFV6. ' 192031930-E D>>4E %FD<= 5G6 >4=<< V7 =4=4>F<6=VL<E 
>E5D54>V6 '�� = �'�. � E5D54<=V XIX EF>?VFFO <VEF> ?5D5F6>D<?>EO =4 7=4G=<= 74?V7=<G=<= 
F4 747>?D><<E?>6<= F5=FD, M> E?D<O?> L6<4>><G D>76<F>G <VEF4. �4 �4>F>< �>?>F>64 4 
$V555=FD>?4 1939 D>>G %FD<= 4=5>E>64=<= $44O=EL><< %>N7><. 

14 55D57=O 1990 D>>G G %FD<N, ?5DL><G 7 G>D4W=EL><E <VEF, ?V4=O?< =4FV>=4?L=<= 
E<<6>? 4 ?D4?>D '>D4W=<. ' 2003 D>FV <VEF> 6<7=4=> =4=>D4M<< D4=>==<< F5=FD>< 
�L6V6EL>>W >5?4EFV. 

 
�>>?>7VG=V G<>6< 4V?O=>< ?D>5>FG64==O 3 744>6V?L=V. 

 &5D<F>DVO ?D>5>FG64==O ?>6=VEFN D>7F4L>64=4 6 <564E E4=VF4D=>W 7>=< 6V4 
VE=GNG>W ?V=VW 74?V7=<FV %��-100,0<., F4 G4EF>>6> 6 <564E >E>D>==>W 7>=< 6V4 VE=GNG>W 
FD4=ED>D<4F>D=>W ?V4EF4=FVW 6/35>� ��-15,0< 

�V4?>6V4=> 4> �>=G64==O F5D<F>DVO <>6=4 D>77?O44F< 4?O ?D>5>FG64==OF4 D>7<VM5==O 
>59T>FV6 5=5D75F<G=>W V=DD4EFDG>FGD< (FD4=ED>D<4F>D=>W ?V4EF4=FVW) V7 4>FD<<4==O< 
5G4V65?L=<E =>D< F4 E4=VF4D=<E ?D46<?. 
 
 

1.2. �?4=G64?L=<= >4D>4E F4 E<EF5<4 D>7E5?5==O 
�4 F5D<F>DVW D>7D>5?OTFLEO?D>5>FG64==O 4V?O=>< V=65=5D=>7> ?D<7=4G5==O 7474?L=>N 

??>M5N 0,1229 74, V7 4>FD<<4==O< 5G4V65?L=<E =>D< F4 E4=VF4D=<E ?D46<?. 
� FV?><G EF4= =46>>?<L=L>7> E5D54>6<M4 =4 F5D<F>DVW ?D>5>FG64==O <>6=4 

E4D4>F5D<7G64F< O> 744>6V?L=<=. 



�V4?>6V4=> 4> 75=5D4?L=>7> ??4=G <VEF4 %FD<=, 44=4 F5D<F>DVO ?D>5>FG64==O 6V4=>E<FLEO 
4> 75<5?L 6<D>5=<G>->><5DFV==>7> ?D<7=4G5==O F4 7=4E>4<FLEO =4 ?5D<D5DVW 6<F?>6<E 
>64DF4?V6. 

$V65=L ?D<D>4=>W F4 F5E=>75==>W 557?5>< 6 D4=>=V ?D>5>FG64==O 3 744>6V?L=<=. �4 
F5D<F>DVOE 6V4EGF=V ?>F5=FV==> F5E=>75==>-=5557?5G=<E >59T>FV6. 

�V4?>6V4=> 4> 74F65D465=>W D4=VL5 <VEF>5G4V6=>W 4>>G<5=F4FVW F5D<F>DVO, =4 O>V= 
?5D5454G4TFLEO ?D>5>FG64==O, ?D<7=4G5=4 4?O D>7<VM5==O FD4=ED>D<4F>D=>W ?V4EF4=FVW. 

�4 44=<= G4E F5D<F>DVO, M> D>7D>5?OTFLEO, =5 745G4>64=4 F4 =5 6545FLEO 7>E?>44DEL>4 
4VO?L=VEFL. 

�4 F5D<F>DVW 45F4?L=>7> ??4=G64==O 6V4EGF=V >59T>F< >G?LFGD=>W F4 VEF>D<G=>W E?44M<=<. 
 

2. �����'%&$�� &� �������$�%&'����/ 
 

$>74V? «�5<?5GEFDV= F4 75<?5>>D<EFG64==O» 6 ?D>T>FV <VEF>5G4V6=>W 4>>G<5=F4FVW 
45F4?L=>7> ??4=G F5D<F>DVW 6<>>=4=> 77V4=> 7V EF. 451 �4>>=G '>D4W=< «�D> 75<?5GEFDV=», G 
6V4?>6V4=>EFV 4> ?>EF4=>6< �45V=5FG �V=VEFDV6 '>D4W=< 6V4 1 65D5E=O 2021 D. No 926 «�D> 
74F65D465==O �>DO4>G D>7D>5?5==O, >=>6?5==O, 6=5E5==O 7<V= F4 74F65D465==O <VEF>5G4V6=>W 
4>>G<5=F4FVW». 

 
2.1. %GG4E=5 6<>>D<EF4==O 75<5?L 
� E>4V 6<>>=4==O 75<?56?>DO4=<E D>5VF (>5EF56G64?L=<E; F>?>7D4D>- 75>457<G=<E; 

?D>5>F=>-6<LG>G64?L=<E) 5G?> ?D>6545=> 75VD, 6<6G5==O F4 4=4?V7 =4O6=<E 75<?56?>DO4=<E 
<4F5DV4?V6, 6V4><>EF5= 7 �5D646=>7> 75<5?L=>7> >444EFDG 6 ?4?5D>6V= F4 5?5>FD>==V= D>D<V. 

&5D<F>DVO 45F4?L=>7> ??4=G64==O E4D4>F5D<7GTFLEO =4EFG?=<<< 44=<<<: 
 
2.2. �5<?56?>DO4=V 74E>4< ?5DE?5>F<6=>7> 6<>>D<EF4==O 75<5?L 
�4 >E=>6V D>7D>5?5=<E ?D>T>F=<E DVL5=L 45F4?L=>7> ??4=G64==O F5D<F>DVW 6<7=4G5=> 

F5D<F>DVN 74 WE D4>F<G=<< 6<>>D<EF4==O< F4 ?D>T>F=<<< DVL5==O<< M>4> DG=>FV>=4?L=>7> 
6<>>D<EF4==O F4 7>=G64==O F5D<F>DVW: 

 
2.3. $>D<G64==O 75<5?L=<E 4V?O=>> 
�5F4?L=<< ??4=>< F5D<F>DVW ?5D5454G5=> D>D<G64==O 75<5?L=>W 4V?O=><, ?>74 <564<< 

G5D6>=<E ?V=V= F4 7 GD4EG64==O< EG<V6=<E 75<?5>>D<EFG64GV6. 
 �D>5>F>64=4 75<5?L=4 4V?O=>4, ??>M5N 0.122974,  7 FV?L>6<<?D<7=4G5==O< 75<5?L=>W 

4V?O=>< 14.02 &5D<F>DVO 4?O D>7<VM5==O, 5G4V6=<FF64, 5>E??G4F4FVW F4 >5E?G7>6G64==O 
5G4V65?L V E?>DG4 >5'T>FV6 ?5D544GV 5?5>FD<G=>W F4 F5??>6>W 5=5D7VW. 

 
�4F5DV4?< D>D<G64==O 75<5?L=<E 4V?O=>> FV?L>65 ?D<7=4G5==O O><E 7<V=NTFLEO <VEFOFL 

6V4><>EFV ?D> O>V ?V4?O74NFL 6=5E5==N 4> �5D646=>7> 75<5?L=>7> >444EFDG: 
- 6V4><>EFV ?D> >5G<E?5==O ??>MV 75<5?L=>W 4V?O=><; 
- >444EFD>6<= ??4= 75<5?L=>W 4V?O=><; 
- <4F5DV4?< ?5D5=5E5==O <56 75<5?L=>W 4V?O=>< 6 =4FGDG (=4 <VEF56VEFL); 
- ?5D5?V> >5<565=L G 6<>>D<EF4==V 75<5?L=<E 4V?O=>>; 
- 4>F ?D<=<4==O-?5D544GV <56>6<E 7=4>V6 =4 755DV74==O; 
- 4>F ?5D5=5E5==O 6 =4FGDG (=4 <VEF56VEFL) <56 >E>D>==<E 7>=, 7>= E4=VF4D=>W >E>D>=<, 

E4=VF4D=>-74E<E=<E 7>= V 7>= >E>5?<6>7> D56<<G 6<>>D<EF4==O 75<5?L (74 =4O6=>EFV); 
 
�D>5>F>64=4 75<5?L=4 4V?O=>4 O>4 6V4=>EOFLEO 4> 75<5?L ?D><<E?>6>EFV, FD4=E?>DFG, 

5?5>FD>==<E >><G=V>4FV=, 5=5D75F<><, >5>D>=< F4 V=L>7> ?D<7=4G5==O(>4F57>DVO75<5?L 77V4=> 
EF. 19 �5<5?L=>7> >>45>EG '>D4W=<). �V4?>6V4=> 4> >?4E<DV>4FVW 6<4V6 FV?L>6>7> ?D<7=4G5==O 
75<5?L (��&��), 74F65D465=>W �4>47>< �5D646=>7> >><VF5FG '>D4W=< V7 75<5?L=<E D5EGDEV6 
6V4 23.07.2010 No 548 «�D> 74F65D465==O �?4E<DV>4FVW 6<4V6 FV?L>6>7> ?D<7=4G5==O 75<5?L» 
FV?L>65 ?D<7=4G5==O 75<5?L=>W 4V?O=><: 14.02 &5D<F>DVO 4?O D>7<VM5==O, 5G4V6=<FF64, 



5>E??G4F4FVW F4 >5E?G7>6G64==O 5G4V65?L V E?>DG4 >5'T>FV6 ?5D544GV 5?5>FD<G=>W F4 F5??>6>W 
5=5D7VW. 

�4 >4<5D4?L=><G 5F4?V D>5VF, ?> >>>D4<=4F4E 65DL<= >GFV6 ?>6>D>FG <56V 75<5?L=<E 
4V?O=>< E>?445=> >444EFD>6V ??4=< 75<5?L=<E 4V?O=>> V7 747=4G5==O< >>=DV7GD4FVW F4 ??>MV 
75<5?L=<E 4V?O=>>, <VD ?V=V= ?> ?5D<<5FDG <56V, 4 F4>>6 >?<E>< EG<V6=<E 75<?5>>D<EFG64GV6 
F4 75<?56?4E=<>V6 (G 6V4?>6V4=VEFN 7V EF. 34 �' «�D> 45D646=<= 75<5?L=<= >444EFD»). 

� <5F>N 6=5E5==O 44=<E ?D> 6<>>=4==O D>5VF V7 75<?5GEFD>N 4> �5D646=>7> 75<5?L=>7> 
>444EFDG ED>D<>64=> 5?5>FD>==<= 4>>G<5=F G D>D<4FV XML, 6V4?>6V4=> 7 «�<<>74<< 4> 
7<VEFG, EFDG>FGD< V F5E=VG=<E E4D4>F5D<EF<> 5?5>FD>==>7> 4>>G<5=F4», O>V 74F65D465=> 
�>EF4=>6>N ��' 6V4 22.10.2012 No1051 «�D> 74F65D465==O �>DO4>G 6545==O �5D646=>7> 
75<5?L=>7> >444EFDG». 

 �?>M4 75<5?L=>W 4V?O=>> 6<D4EG64=4 4=4?VF<G=<< E?>E>5>< (74 >>>D4<=4F4<< >GFV6 
?>6>D>FG <56 75<5?L=>W 4V?O=><) V EF4=>6<FL 0.1229 74 - 14.02 &5D<F>DVO 4?O D>7<VM5==O, 
5G4V6=<FF64, 5>E??G4F4FVW F4 >5E?G7>6G64==O 5G4V65?L V E?>DG4 >5'T>FV6 ?5D544GV 5?5>FD<G=>W 
F4 F5??>6>W 5=5D7VW. 

 
2.3. $5TEFD4FVO 75<5?L=<E 4V?O=>> 
�4 <><5=F D>7D>5?5==O <VEF>5G4V6=>W 4>>G<5=F4FVW, V=D>D<4FVW, M>4> 75<5?L=<E 

4V?O=>>, O>V T ED>D<>64=<<< 4> D>7D>5?5==O <VEF>5G4V6=>W 4>>G<5=F4FVW, 4?5 6V4><>EFV ?D> 
=<E =5 6=5E5=V 4> �5D646=>7> 75<5?L=>7> >444EFDG, =5 6<O6?5=>. 
 

3. ��������/ ' ����$�%&���� �����,��% ���/��� 
 

3.1. �E=GNGV >5<565==O G 6<>>D<EF4==V 75<5?L=<E 4V?O=>> 
�4 F5D<F>DVW ?D>5>FG64==O 4VNFL =4EFG?=V >5<565==O: 
- >E>D>==4 7>=4 ?>6VFDO=>W ��� 6 >�F�� 3 10,0<.; 
- >E>D>==4 7>=4 ?>6VFDO=>W ��� 10 >�F�� 3 10,0<.;; 
- >E>D>==4 7>=4 ?>6VFDO=>W ��� 35 >�FF4 6V4 FD4=ED>D<4F>D=>W ?V4EF4=FVW 6/35>� �� 3 

15,0<.; 
- >E>D>==4 7>=4 >455?L=>W ��� 10 >�F �� 3 1,0<.; 
- E4=VF4D=>-74E<E=4 7>=4 6V4 74?V7=<FV 3 %�� 3 100,0<.; 
- G5D6>=V ?V=VW 6G?. �?<<4 %46GD< 10,0<; 
- <56V EG<V6=<E 75<?5>>D<EFG64=L; 
 
3.2. �D>5>F=V >5<565==O G 6<>>D<EF4==V 75<5?L=<E 4V?O=>> 
�4 F5D<F>DVN ?D>5>FG64==O D>7?>6EN46GNFLEO =4EFG?=V ??4=G64?L=V >5<565==O: 
- G5D6>=V ?V=VW6G?. �D>5>F>64=4 40,0<; 
- ?D>F<?>656=V D>7D<6<; 
- >E>D>==V 7>=< 6V4 V=65=5D=<E <5D56,  
 �=LV ??4=G64?L=V >5<565==O 6V4EGF=V. 
 

3.3. �EF4=>6?5=V >5<565==O G 6<>>D<EF4==V 75<5?L=<E 4V?O=>> 
«%E5<>N ??4=G64?L=<E >5<565=L» 6EF4=>6?NNFLEO <56V D>7?>6EN465==O 6V4?>6V4=<E 

>5<565=L, =4 >E=>6V 45D646=<E =>D< F4 V=L>W =>D<4F<6=>W 4>>G<5=F4FVW 6EF4=>6?NTFLEO 
D56<< (G<>6<) 6<>>D<EF4==O 75<5?L=<E 4V?O=>>. 

�4<=V G<>6< V >5<565==O 745G4>6< 75<5?L=>W 4V?O=>< 6D4E>64=> ?D< D>7D>5?5==V 
D>74V?G «�5<?5GEFDV= F4 75<?5>>D<EFG64==O». &<?< F4 6<4< ??4=G64?L=<E >5<565=L, M> 4VNFL 
=4 F5D<F>DVW, 6>474=V =4 «%E5<V ??4=G64?L=<E >5<565=L». 
 
 

4. $'��&�����,�� ���'����/ &�$�&�$�� ��&��,���� ����'����/ 
 

�<>>=4==O 45F4?L=>7> ??4=G F5D<F>DVW ?>69O74=> 7 =5>5EV4=VEFN 45F4?V74FVW 
�5=5D4?L=>7> ??4=G <. %FD<=. 



�E=>6=4 <5F4 ?D>5>FG: 
- 6<7=4G5==O F4 D>D<G64==O 75<5?L=>W 4V?O=>< 4?O 5G4V6=<FF64 >59T>FG 5=5D75F<G=>W 

V=DD4EFDG>FGD< (FD4=ED>D<4F>D=>W ?V4EF4=FVW); 
- D>7?>4V?G F5D<F>DVW >59T>FG 5=5D75F<G=>W V=DD4EFDG>FGD< (FD4=ED>D<4F>D=>W 

?V4EF4=FVW); 
- G4>E>>=4?5==O V=65=5D=>-FD4=E?>DF=>W V=DD4EFDG>FGD<, 
- 6EF4=>6?5==O ??4=G64?L=<E >5<565=L, O>V 6<<474NFL G?>DO4>G64F< F5D<F>DVN >59T>FG 

5=5D75F<G=>W V=DD4EFDG>FGD< (FD4=ED>D<4F>D=>W ?V4EF4=FVW); 
- D>D<G64==O ?>6=>FV==>7> E5D54>6<M4 DG=>FV>=G64==O >59T>FG; 
�VE?O 4=4?V7G VE=GNG>W E<FG4FVW F4 6D4EG64==O >5<56GNG<E D4>F>DV6 (E4=VF4D=>-74E<E=V 

7>=< V=65=5D=<E <5D56, G5D6>=V ?V=VW 6G?<FL, F>M>) 5G45 6<7=4G5=> <56V F5D<F>DVW >59T>FG 
=>6>7> 5G4V6=<FF64. 

�&� F5D<F>DVW ?VE?O 74F65D465==O T >E=>6=<< 4>>G<5=F><, O><= D57?4<5=FGT 
D>7<VM5==O 6<D>5=<G<E E?>DG4 F4 >59T>FV6 WE >5E?G7>6G64==O V7 4>FD<<4==O< 5G4V65?L=<E 
=>D< F4 E4=VF4D=<E ?D46<?. 

�D>F<?>656=V D>7D<6< <V6 5G4<=>4<< ?D<==OFV G 6V4?>6V4=>EFV 7V EFG?5=5< 
6>7=5EFV=>>EFV. 

$VL5==O M>4> 745G4>6<, 75<?5>>D<EFG64==O F4 5?47>GEFD>N F5D<F>DVW <VEF4 F4 >>D5<<E 
4V?O=>> ?D<=<4NFLEO =4 >E=>6V GEF4=>6?5=>7> 7>=V=7>< ?5D5?V>G ?5D5646=<E, EG?GF=VE V 
4>?GEF<<<E 6<4V6 745G4>6< 75<5?L=<E 4V?O=>>, T4<=<E G<>6 V >5<565=L, O>V 4VNFL G <564E 
7>=, 6<7=4G5=<E ??4=>< 7>=G64==O, V D>7?>6EN46GNFLEO G DV6=V= <VDV =4 6EV, D>7<VM5=V 6 
<564E 6V4?>6V4=<E 7>=, 75<5?L=V 4V?O=><, V=LV >5'T>F< =5DGE><>EFV, =574?56=> 6V4 D>D< 
6?4E=>EFV. 

�>=<, 6V4=>E=> O><E 6EF4=>6?NTFLEO ?5D5?V> ?5D5646=<E F4 4>?GEF<<<E 6<4V6, T4<=V 
G<>6< F4 >5<565==O, 6<4V?ONFLEO =4 ??4=V 7>=G64==O G4EF<=< F5D<F>DVW <VEF4. 

�56V 6EF4=>6?NNFLEO 7 GD4EG64==O<: 
- G5D6>=<E ?V=V=; 
- <56 75<5?L=<E 4V?O=>>; 
- <56 45> ?V=V= 6V46>4V6 4?O V=65=5D=<E >><G=V>4FV=; 
- <56 ?D<D>4=<E >5'T>FV6; 
- V=L<E <56. 
' <564E >>D5<<E 7>= 6<7=4G4NFLEO ?5D5646=V, EG?GF=V F4 4>?GEF<<V 6<4< 6<>>D<EF4==O 

F5D<F>DV= (75<5?L=<E 4V?O=>>). 
�> ?5D5646=<E 6<4V6 6V4=>EOFLEO 6<4< 745G4>6< F4 6<>>D<EF4==O F5D<F>DV=, O>V 74 G<>6< 

4>FD<<4==O 5G4V65?L=<E =>D< F4 EF4=44DFV6 557?5><, V=L<E >5>6'O7>>6<E 6<<>7, =5 <>6GFL 
5GF< 745>D>=5=V. 

�> EG?GF=VE 6<4V6 6V4=>EOFLEO 6<4< 745G4>6< F4 6<>>D<EF4==O, O>V ?> 6V4=>L5==N 4> 
?5D5646=<E T 4>?><V6=<<<. �4?564FL >5'T>F<, O>V F5E=>?>7VG=> ?>6'O74=V 7 >5'T>F4<< 
?5D5646=<E 6<4V6 45> E?D<ONFL 557?5FV G 6V4?>6V4=>EFV 7 =>D<4F<6=>-F5E=VG=>N 
4>>G<5=F4FVTN, E?>DG4< O><E =5>5EV4=V 4?O >E>D>=< >5'T>FV6 ?5D5646=>7> V 4>?GEF<<>7> 6<4V6 
6<>>D<EF4==O. 

�> 4>?GEF<<<E 6<4V6 745G4>6< 75<5?L=<E 4V?O=>> G <564E >>D5<<E 7>= 6V4=>EOFLEO 6<4< 
745G4>6<, O>V =5 6V4?>6V44NFL ?5D5?V>G ?5D5646=<E F4 EG?GF=VE 6<4V6 4?O 44=>W F5D<F>DV4?L=>W 
7>=<, 4?5 <>65 5GF< 4>76>?5=<< 74 >FD<<4==O E?5FV4?L=<E ?>7>465=L 45> E?5FV4?L=<E 
4>76>?V6, 6 F. G., V L?OE>< D>7D>5>< <VEF>5G4V6=>W 4>>G<5=F4FVW (��&) F4 >57>6>D5=L V7 
74?GG5==O< 7D><44EL>>EFV. 

�?O >>6=>W 7>=< 6EF4=>6?NNFLEO, O> ?D46<?>, 45>V?L>4 6<4V6 4>?GEF<<>7> 6<>>D<EF4==O 
F5D<F>DVW, 74 6<=OF>>< 6<?44>V6, O>V >E>5?<6> 6<7=4G4NFLEO G F5>EF>6V= G4EF<=V, M> 6E>4OFL 
4>E>?44G 7>=V=7G. 

�?4E=<>< =5DGE><>EFV, O>V 6>?>4VNFL =5N, <4NFL ?D46> 6<5<D4F< 6<4 (45> 6<4<) 
6<>>D<EF4==O =5DGE><>EFV, O>V T ?5D5646=<<< 4> 6V4?>6V4=<E F5D<F>DV4?L=<E 7>=, V F4>>6 
7<V=N64F< >4<= 6<4 ?5D5646=>7> 6<>>D<EF4==O =4 V=L<= 6<4 ?5D5646=>7> 6<>>D<EF4==O 
6V4?>6V4=> 4> ?D>F54GD ?5D5454G5=<E 7>=V=7><. 



�=65=5D=>-F5E=VG=V >59T>F<, E?>DG4< F4 >><G=V>4FVW, M> 74557?5GGNFL D54?V74FVN 
?5D5646=<E F4 4>?GEF<<<E 6<4V6 6<>>D<EF4==O 4?O >>D5<<E 75<5?L=<E 4V?O=>> (5?5>FD>-, 
6>4>-, 747>74557?5G5==O, >4=4?V74FVO, F5?5D>=V74FVO V F.4.) T F4>>6 4>?GEF<<<<<, ?D< G<>6V W 
6V4?>6V4=>EFV 5G4V65?L=<< =>D<4< F4 ?D46<?4<, F5E=>?>7VG=<< EF4=44DF4< 557?5><. 

�<4< 6<>>D<EF4==O 75<5?L=<E 4V?O=>> 45> =5DGE><>EFV, O>V 6V4EGF=V G ?5D5?V>G 
?5D5646=<E, EG?GF=VE 45> 4>?GEF<<<E 6<4V6 745G4>6< 75<5?L=<E 4V?O=>> 6 <564E 7>=, T 
=54>76>?5=<<< 4?O 6V4?>6V4=>W DG=>FV>=4?L=>-?D46>6>W 7>=< F4 =5 <>6GFL 5GF< 4>76>?5=V. 
 

�7V4=> 7 75=5D4?L=<< ??4=><, 6 <564E 6<>>=4=>W <VEF>5G4V6=>W 4>>G<5=F4FVW «�5F4?L=<= 
??4= F5D<F>DVW» 74EF>E>6GNFLEO =4EFG?=V >E=>6=V F5D<F>DV4?L=V 7>=<: 

1) 7>=4 V=65=5D=>W V=DD4EFDG>FGD< (5?5>FD>?>EF4G4==O)��-1; 
 
��-1 7>=4 V=65=5D=>W V=DD4EFDG>FGD< (5?5>FD>?>EF4G4==O).   
�> 7>=< 6E>4OFL F5D<F>DVW, =4 O><E D>7<VMGNFLEO 4?O D>7<VM5==O 7>?>6=<E >5'T>FV6 
5?5>FD><5D56. 
 

�5D5646=V 6<4< 6<>>D<EF4==O: 
1. >59T>F< 5=5D75F<G=>W V=DD4EFDG>FGD< 
2. V=65=5D=V 5G4V6?V F4 E?>DG4<; 

 
�>?GEF<<V 6<4< 6<>>D<EF4==O (?>FD55GNFL E?5FV4?L=>7> 4>76>?G 45> ?>7>465==O): 

3. >5'T>F<, M> ?>6'O74=V 7 5>E??G4F4FVTN VE=GNG<E E?>DG4; 
4. 44<V=VEFD4F<6=V >5'T>F<, M> ?>6'O74=V 7 DG=>FV>=G64==O< >59T>FV6 7>=<; 
5. 75?5=V =4E4465==O E?5FV4?L=>7> ?D<7=4G5==O. 

 
%G?GF=V 6<4< 6<>>D<EF4==O: 

1. V=LV E?>DG4< V=65=5D=>W V=DD4EFDG>FGD<; 
2. 74D46V, 46F><>5V?L=V EF>O=>< 4?O F<<G4E>6>7> 755DV74==O FD4=E?>DF=<E 74E>5V6, 4?O 

>5E?G7>6G64==O >59T>FV6 7>=<. 
 

5. ���'���� &�$�&�$�� &� ��%����$%,�� ��/�,��%&, 
 
5.1. $>7<VM5==O 6<F?>6>7> D>=4G 
 �5 ?5D5454G5=>. 
�>=>D5F=V ?4D4<5FD< >>6=>7> ?D>5>F>64=>7> >58T>FG G 6<?44>G =>7> 6V4E<?5==O 6V4 

D>7D>5?5=<E ?D>5>F=<E DVL5=L (4>?GE>4TFLEO GF>G=5==O >>=FGDG 745G4>6< F4 ?D>5>FG64==O 
5?47>GEFD>N) 6<7=4G4NFLEO 5E>V74<< =4<VDV6 745G4>6< F4 <VEF>5G4V6=<<< D>7D4EG=>4<< 7 
6V4?>6V4=>N G69O7>>N 7 DVL5==O<< ��&. ' 6<?44>G =5>5EV4=>EFV G 74F65D465=<= ��& <>6GFL 
5GF< 6=5E5=V 7<V=< G 6EF4=>6?5=><G 74>>=>446EF6>< ?>DO4>G. 

 
5.2 $>7<VM5==O 4V?>6<E F5=FDV6 F4 V==>64FV==<E >59T>FV6 
 �5 ?5D5454G5=>. 
 �D>5>F=5 DVL5==O ?D>5>F>64=>W F5D<F>DVW 547>64=5 =4: 
- 6D4EG64==O VE=GNG>W <5D56V 6G?<FL F4 ?D>W74V6 WE 45F4?V74FVTN G 769O7>G V7 <VEF5< 

D>7F4LG64==O VE=GNG<E F4 ?D>5>F=<E V=65=5D=<E <5D56; 
- 674T<>769O7>< ??4=G64?L=>W EFDG>FGD< =>6<E >59T>FV6 7 ??4=G64?L=>N EFDG>FGD>N 

VE=GNG>W 745G4>6< >64DF4?V6. 
�?4=G64==O ?D>5>F>64=>W F5D<F>DVW ?5D5454G4T D>D<G64==O >64DF4?L=>W EFDG>FGD< V7 

6G?<G=>-4>D>6=L>N <5D565N, GF>G=5==O< 5G4V65?L F4 E?>DG4,GMV?L=5==O 745G4>6< 7 <5F>N 
D4FV>=4?L=>7> 6<>>D<EF4==O F5D<F>DVW, 7 D>7<VM5==O< F>D7>6>7> >59T>FG >5E?G7>6G64==O. 

 
5.3 $>7<VM5==O 6<D>5=<G<E >59T>FV6 
�4 F5D<F>DVW ?D>5>FG64==O ?D>5>FGTFLEO>59T>F V=65=5D=>W V=DD4EFDG>FGD< 

(FD4=ED>D<4F>D=4 ?V4EF4=FVO). 



 
5.4 �55D565==O FD44<FV==>7> E5D54>6<M4. �VEF>5G4V6=V G<>6< F4 >5<565==O 
�VEF>5G4V6=>N 4>>G<5=F4FVTN 755DV74TFLEO F4 GF>G=OTFLEO =46>>?<L=T E5D54>6<M5. 
�D>5>F>64=<= D>7<VD 4V?O=>>4?O 5G4V6=<FF64 >59T>FG 5=5D75F<G=>W V=DD4EFDG>FGD< 

(FD4=ED>D<4F>D=>W ?V4EF4=FVW), ?D<==OF<= ?D< ?D>5>FG64==V, E>?444T 0,1229 74. 
 

�VEF>5G4V6=V G<>6< F4 >5<565==O 
4> 745G4>6< 75<5?L=>W 4V?O=>< 

 
�V?O=>4 4?O D>7<VM5==O 6<D>5=<G>7> >5'T>FG 6 <564E%FD<=EL>>W <VEL>>WF5D<F>DV4?L=>W 

7D><44<(??>M4 0,1229 74).4?O D>7<VM5==O, 5G4V6=<FF64, 5>E??G4F4FVW F4 >5E?G7>6G64==O 
5G4V65?L V E?>DG4 >5'T>FV6 ?5D544GV 5?5>FD<G=>W F4 F5??>6>W 5=5D7VW.    
 
1. �D4=<G=> 4>?GEF<<4 6<E>F=VEFL 5G4<=>V6, 5G4V65?L F4 E?>DG4 G <5FD4E 3 15< 4> 7D55=O 
44EG; 
2. �4>E<<4?L=> 4>?GEF<<<= 6V4E>F>> 745G4>6< 75<5?L=>W 4V?O=>< 3- 50%; 
3. �4>E<<4?L=> 4>?GEF<<4 MV?L=VEFL =4E5?5==O 6 <564E 6<F?>6>W F5D<F>DVW 6V4?>6V4=>W 
6<F?>6>W >4<=<FV (>64DF4?G, <V>D>D4=>=G) 3 6V4?>6V4=> 4> ��� �.2.2-12:2019 «�?4=G64==O 
F4 745G4>64 F5D<F>DV=», ?.61.16  
4. �V=V<4?L=> 4>?GEF<<V 6V4EF4=V 6V4 >59T>F4, M> ?D>5>FGTFLEO, 4> G5D6>=<E ?V=V=, ?V=V= 
D57G?N64==O 745G4>6<, VE=GNG<E 5G4<=>V6 F4 E?>DG4): 
6V4 G5D6>=<E ?V=V= 3 6,0 < 6V4 6G?. �D>5>F>64=4,  3,0<. 6V4 6G?. �?<<4 %46GD<; 
4> ?V=VW D57G?N64==O 745G4>6< 3 ?> ?V=VW D57G?N64==O 745G4>6<; 
4> VE=GNG>W 6<F?>6>W 745G4>6<: 7 ?V64=O-=5 <5=L5 15,0<. 
5. �?4=G64?L=V >5<565==O (>E>D>==V 7>=< ?4<9OF>> >G?LFGD=>W E?44M<=<, <56V VEF>D<G=<E 
4D54?V6, 7>=< D57G?N64==O 745G4>6<, 7>=< >E>D>=N64=>7> ?4=4L4DFG, 7>=< >E>D>=< 
4DE5>?>7VG=>7> >G?LFGD=>7> L4DG, 6 <564E O><E 4VT E?5FV4?L=<= D56<< WE 6<>>D<EF4==O, 
>E>D>==V 7>=< >59T>FV6 ?D<D>4=>-74?>6V4=>7> D>=4G, ?D<55D56=V 74E<E=V E<G7<, 7>=< 
E4=VF4D=>W >E>D>=<) 3 =5<4T; 
6. �E>D>==V 7>=< >59T>FV6 FD4=E?>DFG, 769O7>G, V=65=5D=<E >><G=V>4FV=, 6V4EF4=V 6V4 >59T>F4, 
M> ?D>5>FGTFLEO, 4> VE=GNG<E V=65=5D=<E <5D56: 
- >E>D>==4 7>=4 ?>6VFDO=>W ��� 6 >�F �� 3 10,0<.; 
- >E>D>==4 7>=4 ?>6VFDO=>W ��� 10 >�F �� 3 10,0<.;; 
- >E>D>==4 7>=4 ?>6VFDO=>W ��� 35 >�F F4 6V4 FD4=ED>D<4F>D=>W ?V4EF4=FVW  
   6/35>� �� 3 15,0<.; 
- >E>D>==4 7>=4 >455?L=>W ��� 10 >�F �� 3 1,0<.; 
- ?D>>?444==O ?D>5>F=<E V=65=5D=<E <5D56 74V=E=N64F< 6V4?>6V4=> 4> ��� �.2.2-
12:2019. 
 
 

6. ��%�'���'����/ ��%�����/ 
 
� <564E F5D<F>DVW ?D>5>FG64==O ?5D5454G5=> D>7<VEF<F< >59T>F 5=5D75F<G=>W 

V=DD4EFDG>FGD<, 557 ?>EFV==> ?5D55G64NG>7> ?5DE>=4?G. �5D5454G5=> 6V46V4G64==O F5E=VG=<< 
?5DE>=4?>< ?D>5>F>64=>7> >59T>FG E<FG4F<6=> 45> 6 <564E D57?4<5=F=<E D>5VF. 

%<EF5<4 >5E?G7>6G64==O =4E5?5==O 6<DVL5=4 74 >?4E<G=>N EE5<>N: 74557?5G5==O 
6<F5?V6 >5'T>F4<< =45?<65=>7> (?5D6<==>7>) V M>45==>7> >5E?G7>6G64==O 6 <564E 
>><D>DF=>W 4>EFG?=>EFV 4> F5D<F>DVW, 4 >5'T>F4<< ?5DV>4<G=>7> >5E?G7>6G64==O - 6 <564E 
=>D<4F<6=>W 4>EFG?=>EFV. 

�>EFG? 4> >58T>FV6 V=65=5D=>7> ?D<7=4G5==O F4 E?>?GG5==O <V6 E>5>N >>D5<<E 7DG? 
745G4>6< ?5D5454G5=> 6G?<FO<<, ?D>W744<< V <5D565N ?VL>EV4=<E 4?5=. 

�5F4?L=<< ??4=>< F5D<F>DVW GF>G=5=> 4V?O=>G 4?O >59T>FG 5=5D75F<G=>W 
V=DD4EFDG>FGD< (FD4=ED>D<4F>D=>W ?V4EF4=FVW) (55F>==<= 6G7>?). 

 



7. &$��%��$&�� �����,��%&, &� ��$$�%&$'�&'$� 
 
7.1 &D4=E?>DF=V 769O7>< F4 FD4=E?>DF=<= ?>?<F 
�4 F5D<F>DVW ?D>5>FG64==O ED>D<>64=4 6G?<G=>-4>D>6=O <5D564 7 74E>4G F4 ?V6=>GV. 
�5D5454G5=> D5>>=EFDG>FVO F4 GF>G=5==O ?D>W74V6 =4 F5D<F>DVW ?D>5>FG64==O. �4W74 4> 

?D>5>F>64=>W F5D<F>DVW FD4=ED>D<4F>D=>W ?V4EF4=FVW ?5D5454G5=<= 6V4 ?D>5>F>64=>7> ?D>W74G 
6V4 6G?. �?<<4 %46GD<. &<<G4E>6V ?4D>G64?L=V <VEFO 4?O 46F><>5V?V6 3 =5 ?5D5454G5=>. 

 
7.2 �D74=V74FVO 7>6=VL=L>7> FD4=E?>DF=>7> E?>?GG5==O 
$GE ?> 6G?<FOE F4 ?D>W744< ?5D5454G5=<= ?57>>6<< 46F>FD4=E?>DF>< F4 E?5FF5E=V>>N 

(>5E?G7>6G64==O V=65=5D=<E <5D56, 745G4>6<, 4>EFG? ?>656=<E <4L<=, F>M>). 
�E=GNGV 6G?<FV =5>5EV4=> ?D<65EF< 4> =>D<4F<6=<E ?4D4<5FDV6 77V4=> ��� �.2.2-

12:2019 «�?4=G64==O F4 745G4>64 F5D<F>DV=» F4 ��� �.2.3-5:2018 «�G?<FV F4 4>D>7< 
=4E5?5=<E ?G=>FV6».�5?44=4==O 6G?<FL F5E=VG=<<< 74E>54<< >D74=V74FVW 4>D>6=L>7> DGEG 
74V=E=NTFLEO 6V4?>6V4=> 4> G<==<E EF4=44DFV6 (�%&' 2014 «�=4>< 4>D>6=V. �474?L=V F5E=VG=V 
G<>6<. �D46<?4 74EF>EG64==O», �%&' 2587:2010 «�57?5>4 4>D>6=L>7> DGEG. $>7<VF>4 
4>D>6=O. �474?L=V F5E=VG=V 6<<>7<. �5F>4< >>=FD>?N64==O. �D46<?4 74EF>EG64==O», �%&' � 
�.2.3-25:2009 «%?>DG4< FD4=E?>DFG. �7>D>465==O 4>D>6=T FD>E>6>7> F<?G. �474?L=V F5E=VG=V 
G<>6<», 2735-94 «�7>D>465==O 4>D>6=V V =4?DO<=V ?D<EFD>W. �D46<?4 74EF>EG64==O. �<<>7< 
557?5>< 4>D>6=L>7> DGEG») V D>7D>5?ONFLEO =4 =4EFG?=<E EF44VOE ?D>5>FG64==O. 

�E6VF?5==O 6G?<FL 6<>>=GTFLEO 77V4=> 7 6<<>74<< �%&' 3587-97 «�57?5>4 4>D>6=L>7> 
DGEG. �6F><>5V?L=V 4>D>7<, 6G?<FV F4 74?V7=<G=V ?5D5W74<. �<<>7< 4> 5>E??G4F4FV==>7> EF4=G» 
F4 ��� �.2.5-28-2006 «�=65=5D=5 >5?44=4==O 5G4<=>V6 V E?>DG4. �D<D>4=5 V LFGG=5 
>E6VF?5==O». �?O ?V46<M5==O 557?5>< DGEG 6 =VG=V 7>4<=< =4 6G?<FOE ?5D5454G5=> 
6?4LFG64==O LFGG=>7> >E6VF?5==O E6VF<?L=<>4<< 7 6<E>>>5>>=><VG=<<< 
747>D>7DO46G64?L=<<< 465D5?4<< E6VF?4: 4G7>6V DFGF=V ?4<?< 6<E>>>7> F<E>G 7 =4?D46?5=>N 
>>?L>D>6VEFN (�$�), =4FDVT6V ?4<?< 6<E>>>7> F<E>G (���&), <5F4?>74?>75==V (�$�) ?4<?<, 
77V4=> 7 ?.10 ��� �.2.3-5:2018. 

� <VEFOE ?VL>EV4=<E ?5D5E>4V6 =4 ?D>W7=G G4EF<=G 4>D>7< =4=>E<FLEO D>7<VF>4 F<?G 
«755D4» V 6EF4=>6?NNFLEO 6V4?>6V4=V 4>D>6=V 7=4><, ?D< FL><G =5>5EV4=5 >5?44=4==O 
?5D5ED5EFL ?4=4GE4<<-79W744<< 4?O ?D>W74G V=64?V4=<E >>?OE>> 4> 6V4?>6V4=<E GEF4=>6 
>E>D>=< 74>D>69O, F>D7V6?V. 

 
7.3 �>D>6=L>-FD4=E?>DF=4 V=DD4EFDG>FGD4 
�?4=G64?L=4 EFDG>FGD4 6G?<G=>W <5D56V 74?D>5>F>64=4 G 6<7?O4V T4<=>W E<EF5<< 7 

GD4EG64==O< DG=>FV>=4?L=>7> ?D<7=4G5==O >>D5<<E 6G?<FL F4 ?D>W74V6, V=F5=E<6=>EFV 
FD4=E?>DF=>7>, ?VL>EV4=>7> V 65?>E<?54=>7> DGEG, 4DEVF5>FGD=>- ??4=G64?L=>W >D74=V74FVW 
F5D<F>DVW V E4D4>F5DG 745G4>6<, 6<<>7 >E>D>=< =46>>?<L=L>7> E5D54>6<M4, VE=GNG<E 
<47VEFD4?L=<E V=65=5D=<E <5D56 V 74557?5GGT:  

- 7DGG=V769O7>< 7 6<F?>6>N F4 7D><44EL>>N F5D<F>DVTN 7V 7>=>N 6V4?>G<=>G; 
- =5>5EV4=V L6<4>>EFV DGEG FD4=E?>DFG; 
- 557?5>< DGEG ?VL>E>4V6 V FD4=E?>DF=<E 74E>5V6. 
�5D5454G5=> 6?4LFG64==O 74<>M5==O F5D<F>DVW>59T>FG. 
 
 
7.4 �D74=V74FVO 7D><44EL>>7> FD4=E?>DFG 
�D< ??4=G64==V F5D<F>DVW ?5D5454G5=> D>D<G64==O E<EF5<< FD4=E?>DF=<E >><G=V>4FV= 

F4 E?>DG4 GEVE 6<4V6 7>6=VL=L>7> FD4=E?>DFG, 744F=<E 74557?5GG64F< DG=>FV>=4?L=G FV?VE=VEFL 
VE>FV4?L=>-5>>=><VG=V 674T<>76'O7>< 7 >E=>6=<<< E?>DG44<< F4 >><G=V>4FVO<< =4E5?5=>7> 
?G=>FG <V6 E>5>N. �E=GNG<= <4DLDGF 7>6=VL=L>7> FD4=E?>DFG ?D>E>4OFL ?> 46F>L?OEG �471 
(6 <564E <VEF4 6G?. �L6V6EL>4) 

�6F>5GE=V 7G?<=>< 7 >D<F<<< ?46V?L=>=4<< 6?4LF>6GNFLEO G5D57 >>6=V 400-600 
<5FDV6. 

$>7D4EG=>>64 L6<4>VEFL DGEG FD4=E?>DFG ?> >E=>6=<< 6G?<FO< ?D<==OF4 50 ></7>4. 



$GE FD4=E?>DF=<E 74E>5V6 ?> 6G?<FOE D57G?NTFLEO 74 4>?><>7>N 4>D>6=VE 7=4>V6 V 
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(F5E=>75==<E) D4>F>DV6 <4T F5=45=FVN 4> ?>7VDL5==O 6 D57G?LF4FV 6FD4F< E6>WE ?D<D>4=<E 
6?4EF<6>EF5=. �E=>6=<E 7<V= 747=4T =>7> EV<VG=<= E>?44. �E>5?<6> F5 EF>EGTFLEO F5D<F>DV=, 
?D<?57?<E 4> 46F>FD4=E?>DF=<E L?OEV6, <VEFL E>?44G64==O F4 755DV74==O 6V4E>4V6. &4>V �DG=F< 
?5D5E>4OFL V7 >4F57>DVW ?D<D>4=VE G F5E=>75<<. $57G?LF4F>< FL>7> T 745DG4=5==O �DG=FG 
D44V>=G>?V44<<, 646><<< <5F4?4<<, O>V 6<><44NFLEO 6<E?>?=<<< 7474<<, WE 74E<VG5==O, 
?>DGL5==O ?D>DV?N, 7<V=4 =>7> DV7<G=<E F4 <5E4=VG=<E 6?4EF<6>EF5=, V O> =4E?V4>> 3 
5V>?>7VG=<E. 

�>E?V465==O =4 6<7=4G5==O 6<VEFG 745DG4=NNG<E D5G>6<= 65DE=VE L4DV6 �DG=FG G 
<VEFOE <>6?<6>7> 745DG4=5==O =5 ?D>6>4<?<EO, V=D>D<4FVO 7 FL>7> ?D<6>4G 6V4EGF=O. 

�>=V=7 F4 �5F4?L=<= ??4= F5D<F>DVW T >><??5>E=<< 4>>G<5=F><, ?D>5>F=V DVL5==O O>>7> 
6 DV7=V= <VDV F4 D>D<V <>6GFL 6??<64F< =4 EF4= 4>6>V??O F4 74>D>69O =4E5?5==O. �4=V ?D> EF4= 
74>D>69O =4E5?5==O =5 =444=V. 

 
11.3. %4D4>F5D<EF<>4 EF4=G 4>6>V??O, G<>6 6<FFT4VO?L=>EFV =4E5?5==O F4 EF4=G 
=>7> 74>D>69O =4 F5D<F>DVOE, O>V =<>6VD=> 747=4NFL 6??<6G 
 �5F4?L=<= ??4= F5D<F>DVWD>7D>5?OTFLEO 7 GD4EG64==O< ?D<D>4=>->?V<4F<G=<E G<>6, 

VE=GNG>7> D5?LTDG F5D<F>DVW, >E>5?<6>EF5= ?D<?57?>W F5D<F>DVW F4 745G4>6<, 7 4>FD<<4==O< 
F5E=>?>7VG=<E F4 E4=VF4D=<E D>7D<6V6. 

�574F<6=V =4E?V4>< ??4=>64=>W 4VO?L=>EFV =4 <V>D>>?V<4F, 4 F4>>6 6??<6 DV7<G=<E 
D4>F>DV6 6??<6G =4 4>6>V??O =5 ??4=GTFLEO. �<V=< <V>D>>?V<4FG, M> 557?>E5D54=L> ?>69O74=V 7 
??4=>6>N 4VO?L=>EFV (7=4G=<E 6<4V?5=L F5??>F<, 6>?>7<, F>M>) =5 6V45G4GFLEO. 

�574F<6=V 5=4>75==V F4 5>7>75==V ?D>F5E<, O6<M4 ?D<D>4=>7> F4 F5E=>75==>7> 
?>E>465==O (F5>F>=VG=V, E5=E<VG=V, 7EG6=V, E5?56V, 7<V=< =4?DG65=>7> EF4=G V 6?4EF<6>EF5= 
<4E<6V6 ?>DV4, 45D>D<4FVW 75<=>W ?>65DE=V) =5 ?5D5454G4NFLEO. 

�574F<6=>7> 6??<6G =4 EF4= 74>D>69O G< 74E6>DN64=VEFL, 4 F4>>6 ?>7VDL5==O G<>6 
6<FFT4VO?L=>EFV <VEF56>7> =4E5?5==O =5 ?5D5454G4TFLEO. 

 
11.4. �>>?>7VG=V ?D>5?5<<, G F><G G<E?V D<7<>< 6??<6G =4 74>D>69O =4E5?5==O, O>V 
EF>EGNFLEO 4>>G<5=F4 45D646=>7> ??4=G64==O, 7>>D5<4 M>4> F5D<F>DV= 7 
?D<D>4>>E>D>==<< EF4FGE>< (74 44<V=VEFD4F<6=<<< 44=<<<, EF4F<EF<G=>N 

V=D>D<4FVTN F4 D57G?LF4F4<< 4>E?V465=L) 
 
�5F4?L=<< ??4=>< F5D<F>DVW =5 ?5D5454G5=> F5D<F>DV= 7 ?D<D>4>>E>D>==<< EF4FGE><. 
 
11.5. �>5>69O74==O G ED5DV >E>D>=< 4>6>V??O, G F><G G<E?V ?>69O74=V V7 74?>5V74==O< 
=574F<6=><G 6??<6G =4 74>D>69O =4E5?5==O, 6EF4=>6?5=V =4 <V6=4D>4=><G, 

45D646=><G F4 V=L<E DV6=OE, M> EF>EGNFLEO 4>>G<5=F4 45D646=>7> ??4=G64==O, 4 F4>>6 



L?OE< 6D4EG64==O F4><E 7>5>69O74=L ?V4 G4E ?V47>F>6>< 4>>G<5=F4 45D646=>7> 
??4=G64==O 

 
�D>5>F=V DVL5==O �5F4?L=>7> ??4=G F5D<F>DVW D>7D>5?5=> 77V4=> �4>>=G '>D4W=< "�D> 

>E>D>=G =46>>?<L=L>7> ?D<D>4=>7> E5D54>6<M4", 4 E4<5: %F4FFV 3 "�E=>6=V ?D<=F<?< 
>E>D>=< =46>>?<L=L>7> ?D<D>4=>7> E5D54>6<M4". 

�?O 74?>5V74==O< =574F<6=><G 6??<6G =4 4>6>V??O F4 74>D>69O =4E5?5==O ?5D5454G5=V 
F4>V 7>5>68O74==O: 

- >>=FD>?L >5EO7V6 6<><4V6, G F><G G<E?V: GFD<<4==O (<4E>6>W >>=F5=FD4FVW) V >V?L>>EFV 
6<><4V6 (<4E>6>W 6<FD4F<) 745DG4=NNG<E D5G>6<=; 

�>=FD>?L 6<><4V6 745DG4=NNG<E D5G>6<= 6 4F<>ED5DG ?5D5454G4T: 
- 74E>4< M>4> >>=FD>?N 74 6<><44<< 745DG4=NNG<E D5G>6<= 6 4F<>ED5D=5 ?>6VFDO 

?>6<==V 74557?5G<F< 6<>>=4==O 6<<>7, ?5D5454G5=<E �4>>=>< '>D4W=< "�D> >E>D>=G 
4F<>ED5D=>7> ?>6VFDO", 74?G756<<< =>D<4F<6=<<< 4>>G<5=F4<<. 

�>5>68O74==O M>4> 74557?5G5==O =4?56=>7> ?>6>465==O 7 6V4E>44<<: 
- >?5D4FVW M>4> 75<D4==O, 755DV74==O, FD4=E?>DFG64==O F4 GF<?V74FVW 6V4E>4V6 ?>6<==V 

74V=E=N64F<EO 7 4>FD<<4==O =>D< 5>>?>7VG=>W 557?5>< F4 �4>>=G '>D4W=< "�D> 6V4E>4<". 
- 6EV F<?< 6V4E>4V6, M> GF6>DN64F<<GFLEO 6 ?D>F5EV 6<>>=4==O D>5VF 7 D5>G?LF<64FVW, 

?V4?O74NFL 6<?GG5==N, =4>>?<G5==N V D>7<VM5==N WE G E?5FV4?L=> 6V46545=<E <VEFOE 7 <5F>N 
?>44?LL>W GF<?V74FVW G< 6<44?5==O. 

- <VEFO F<<G4E>6>7> 755DV74==O 6V4E>4V6 ?>6<==V 6V4?>6V44F< 6<<>74< �4>>=G '>D4W=< 
«�D> 6V4E>4<». 

- � <5F>N G=<>=5==O <>6?<6>7> ?>FD4??O==O 6V4E>4V6 6 =46>>?<L=T E5D54>6<M5 
?5D5454G5=> 74557?5G5==O ?>6=>7> 75<D4==O, =4?56=>7> 755DV74==O F4 =54>?GM5==O 7=<M5==O 
V ?EG64==O 6V4E>4V6. 

� >5>69O7>< >E>5<, O>G 5G45 ?D<7=4G5=> 6V4?>6V44?L=>N G ED5DV ?>6>465==O 7 6V4E>44<< 
6 =4E5?5=><G ?G=>FV 5G45 6E>4<F< <>=VF>D<=7 <VEFL 755DV74==O 6V4E>4V6 F4 6545==O 
?5D6<==>7> ?>F>G=>7> >5?V>G >V?L>>EFV, F<?G V E>?44G 6V4E>4V6, M> GF6>DNNFLEO, 75<D4NFLEO, 
755DV74NFLEO F4 ?5D544NFLEO =4 GF<?V74FVN. 

 
11.6. �?<E =4E?V4>V6 4?O 4>6>V??O, G F><G G<E?V 4?O 74>D>69O =4E5?5==O, G F><G 

G<E?V 6F>D<==<E, >G<G?OF<6=<E, E<=5D7VG=<E, >>D>F>>-, E5D54=L>- F4 4>67>EFD>>>6<E (1, 
3-5 F4 10-15 D>>V6 6V4?>6V4=>, 4 74 =5>5EV4=>EFV - 50-100 D>>V6), ?>EFV==<E V F<<G4E>6<E, 
?>7<F<6=<E V =574F<6=<E =4E?V4>V6 

�4E?V4>< 4?O 4>6>V??O, G F><G G<E?V 4?O 74>D>6'O =4E5?5==O 3 5G4L-O>V =<>6VD=V - 
=4E?V4>< 4?O D?>D<, D4G=<, 5V>DV7=><4=VFFO, �DG=FG, >?V<4FG, ?>6VFDO, 6>4<, ?4=4L4DFG 
(6>?NG4NG< F5E=>75==>7>), ?D<D>4=<E F5D<F>DV= F4 >5'T>FV6, 557?5>< 6<FFT4VO?L=>EFV 
=4E5?5==O F4 =>7> 74>D>6'O, <4F5DV4?L=<E 4>F<6V6, >5'T>FV6 >G?LFGD=>W E?44M<=< F4 674T<>4VO 
F<E D4>F>DV6. 

- �4 ?>E>465==O< 5>>?>7VG=<= 6??<6 <>65 5GF< ?5D6<==<<, F>5F> 557?>E5D54=L> 
?>69O74=<< 7 6??<6>< ?D>5>FG =4 5>>E<EF5<G V 6F>D<==<<, M> T =4E?V4>>< ?5D6<==<E 7<V= 6 
5>>E<EF5<V (<>6?<65 75V?LL5==O 5D>=E>?575=56<E 74E6>DN64=L E5D54 =4E5?5==O 6=4E?V4>> 
745DG4=5==O 4F<>ED5D<). 

-�V4 >G<G?OF<6=<< 6??<6>< D>7G<VTFLEO EG>G?=VEFL 6??<6V6 6V4 D54?V74FVW ??4=>64=>W 
4VO?L=>EFV F4 V=L<E, M> VE=GNFL 45> ??4=GNFLEO 6 =4=5?<6G><G <4=5GF=L><G 6<4V6 
4=FD>?>75==>W 4VO?L=>EFV, O>V <>6GFL ?D<765EF< 4> 7=4G=<E - =574F<6=<E 45> ?>7<F<6=<E 
6??<6V6 =4 =46>>?<L=T E5D54>6<M5 45> E>FV4?L=>- 5>>=><VG=V G<>6<. �G<G?OF<6=V 5D5>F< 
<>6GFL 6<=<>4F< 7 =57=4G=<E 74 E6>W<< >>D5<<<< 4VO<< D4>F>DV6, O>V 6??<64NFL >4=>G4E=> 
?D>FO7>< FD<64?>7> ?5DV>4G G4EG ?>EFG?>6> =4>>?<GGNG<EL, ?V4EG<>6GNG<EL <>6GFL 
6<>?<>4F< 7=4G=V =4E?V4><. �>G<G?OFVO 6??<6V6 6V45G64TFLEO 6 F><G 6<?44>G, >>?< 
4=FD>?>75==<= 6??<6 45> V=LV DV7<G=V 45> EV<VG=V 6??<6< =4 5>>E<EF5<G ?D>FO7>< G4EG 
?5D565DLGNFL WW <>6?<6VEFL WE 4E<<V?OFVW 45> FD4=ED>D<4FVW. �4 ?D>5>F>64=V= F5D<F>DVW 65?<>V 
?V4?D<T<EF643745DG4=N64GV 6V4EGF=V. �D< 4>FD<<4==V F4 6<>>=4==V 6EVE ?5D5454G5=<E 
>><??5>E=<E 74E<E=<E V >E>D>==<E 74E>4V6, M> 6V4?>6V44NFL 4VNG<< =>D<4F<6=<< 6<<>74<, 



<>6?<6VEFL 6<=<>=5==O >G<G?OF<6=>7> 6??<6G O><= EG?D>6>46GNFLEO =574F<6=<<< 
5>>?>7VG=<<< =4E?V4>4<< F4 ?>=44=>D<4F<6=<<< 6<><44<< 6 4F<>ED5D=5 ?>6VFDO 
745DG4=NNG<E D5G>6<= =5 ?5D5454G4TFLEO. 

%<=5D7VG=V =4E?V4>< 3 EG<4D=<= 5D5>F, O><= ?>?O74T G F><G, M> ?D< 674T<>4VW 46>E 45> 
5V?LL5 D4>F>DV6 WE 4VO EGFFT6> ?5D56464T 4VN >>6=>7> >>D5<> >><?>=5=FG - 6V4EGF=V. 

�>D>F>>- F4 E5D54=L>EFD>>>6V =4E?V4>< (1, 3-5, 10-15 D>>V6) =4D47V 6V4EGF=V. 
� 5>>G E>FV4?L=>-5>>=><VG=<E G<>6 ?D>64465==O 4VO?L=>EFV 5G45 <4F< ?>7<F<6=<= 

=4E?V4>>, F4> O> ?D>5>F>< ?5D5454G5=> D>D<G64==O F>D7V65?L=>W 7>=<, M> 75V?LL<FL >V?L>VEFL 
D>5>G<E <VEFL 4?O <VEF56>7> =4E5?5==O. 

�=4G=>7> F4 4>67>EFD>>>6>7> =574F<6=>7> 6??<6G ?V4 G4E ??4=>64=>W 4VO?L=>EFV =4 
4>6>V??O F4 74>D>69O =4E5?5==O =5 ?5D5454G4TFLEO. 

 
11.7. �4E>4<, M> ?5D5454G4TFLEO 66<F< 4?O 74?>5V74==O, 7<5=L5==O F4 

?><9O>L5==O =574F<6=<E =4E?V4>V6 6<>>=4==O 4>>G<5=F4 45D646=>7> ??4=G64==O 
� <5F>N >E>D>=< V >74>D>6?5==O =46>>?<L=L>7> E5D54>6<M4 F4 4?O 74557?5G5==O 

5>>?>7VG=>W EFV=>>EFV F5D<F>DVW 4> F5E=>75==>7> =464=F465==O G ?D>5>FV D5>><5=4>64=> 
6<>>=4F< DO4 ??4=G64?L=<E V F5E=VG=<E 74E>4V6. �4<VG5=<= >><??5>E 74E>4V6 ?>6<=5= 
D54?V7>6G64F<EL G5D57 4VN 74>>=V6 '>D4W=< M>4> 5>>?>7VG=>7> EF4=G F4 E4=VF4D=>-
5?V45<V>?>7VG=>7> >>=FD>?N F5D<F>DVW, <VEF56>7> E4<>G?D46?V==O. 

�?O 74557?5G5==O E4=VF4D=>-7V7VT=VG=<E G<>6 =4 F5D<F>DVW ?D>5>F>64=>W 745G4>6< 
?D>?>=GTFLEO: 

- 745>D>=4 D>7<VM5==O 6 <564E F5D<F>DVW M> ?D>5>FGTFLEO 5G4L-O><E >59T>FV6, 
=5E?D<OF?<6<E 6 5>>?>7VG=><G 6V4=>L5==V; 
- 4>FD<<4==O ?4D4<5FDV6 ??4=G64?L=<E >5<565=L ?D< D54?V74FVW DVL5=L ?5D5454G5=<E 

44=<< ?D>5>F><: 4>FD<<4==O ?4D4<5FDV6 >5<565=L 6<7=4G5=<E E4=VF4D=<<< =>D<4<< F4 
5>>?>7VG=<< 74>>=>446EF6>< ?D< 5G4V6=<FF6V >59T>FV6 F4 <5D56 V=65=5D=>W V=DD4EFDG>FGD< 3 
%�� 6V4 >G<E=<E E?>DG4, >><G=4?L=>W F4 7?<6>6>W >4=4?V74FVW, D>7<VM5==O (D5>>=EFDG>FVO) 
FD4=ED>D<4F>D=<E ?V4EF4=FV= F>M>; 

- =4?47>465==O E<EF5<< <>=VF>D<=7G =46>>?<L=L>7> ?D<D>4=>7> E5D54>6<M4 
(?>6VFDO=<= F4 6>4=<= 54E5==<, �DG=F) 7 >D74=V74FVTN EF4FV>=4D=<E ?>EFV6 F4 ?G=>FV6 
>>=FD>?N 6 <564E 6<D>5=<G>W7>=<. 

' ??4=V >E>D>=< 4F<>ED5D=>7> ?>6VFDO: 
- EF6>D5==O 75?5=<E =4E4465=L 674>66 6G?<FL, 4>DV7 4?O 74E<EFG 6V4 LG<G F4 

74747>64=>EFV 6<F?>6<E F4 D5>D54FV==<E F5D<F>DV=. 
' ??4=V >E>D>=< 6>4=>7> 54E5==G: 
- 6?D>64465==O >><??5>EG 74E>4V6 M>4> 5>>?>7V74FVW 6EL>7> 6>4>7>E?>44DEL>>7> 

>><??5>EG =4E5?5=<E ?G=>FV6: D5>>=EFDG>FVO F4 >=>6?5==O =4 EGG4E=><G DV6=V 6EL>7> 
6>4>?D>6V4=>7> 7>E?>44DEF64 (<5D56, =4E>E=<E EF4=FV= F>M>), 74?D>64465==O EGG4E=<E 
F5E=>?>7V= F4 <5F>4V6 6>4>?V47>F>6>< ?<F=<E 6>4 4> =>D<4F<6=<E DV6=V6; D5>>=EFDG>FVO F4 
D>7L<D5==O <5D56 F5=FD4?V7>64=>7> 6>4>?>EF4G4==O F4 V=LV 74E>4<; 

- G?>DO4>G64==O F5D<F>DV= 6 <564E 1-7> ?>OEG 7>= E4=VF4D=>W >E>D>=< ?V475<=<E 465D5? 
6>4>?>EF4G4==O; D>7D>5>4 ?D>5>FG 2 F4 3-7> ?>OEV6 7>= E4=VF4D=>W >E>D>=< F4 6?D>64465==O 
74E>4V6 V ?>EFV==>7> >>=FD>?N M>4> 4>FD<<4==O ?D46>6>7> D56<<G 1, 2, 3-7> ?>OEV6 7>= 
E4=VF4D=>W >E>D>=< ?V475<=<E 465D5? 6>4>?>EF4G4==O, 77V4=> �>EF4=>6< ��' No2024 6V4 18 
7DG4=O 1998 D.; 

- =4?47>465==O EGG4E=>W E<EF5<< F5=FD4?V7>64=>7> 6>4>6V46545==O F4 ?V4>?NG5==O 
6EL>7> VE=GNG>7> V ?D>5>F=>7> 6<F?>6>7> D>=4G F4 V=L<E >59T>FV6 6>4>E?>6<64==O 4> 
F5=FD4?V7>64=>W E<EF5<< 6>4>6V46545==O; 

- 74557?5G5==O 6V46545==O ?>65DE=56>7> EF>>G 7 GEVTW F5D<F>DVW; 
- 6<>>=4==O >><??5>EG 74E>4V6 7 V=65=5D=>W ?V47>F>6>< ?D< >E6>T==V F5D<F>DV=, M> 

747=4NFL 6??<6G =5E?D<OF?<6<E ?D<D>4=<E ?D>F5EV6: D57G?N64==O ?>65DE=56>7> EF>>G, 74E<EF 
6V4 ?V4F>??5==O, 5?47>GEFDV= V D>7G<M5==O 6>4>=<; 74E>4< 7 74>DV??5==O EE<?V6 F>M>. 

' ??4=V >E>D>=< �DG=FV6: 
- 4>FD<<4==O 6<<>7 M>4> E4=VF4D=>7> >G<M5==O F5D<F>DVW, 74557?5G5==O 100% 



>E>??5==O< EV?LEL>>W F5D<F>DVW ??4=>6>-?>46VD=>N E4=VF4D=>N >G<EF>>N, D>76<F>> 
E<EF5<<; 

- D>74V?L=>7> 75>DG E<VFFO, ?V>6V44FVO =5E4=>FV>=>64=<E 764?<M ?>5GF>6<E 6V4E>4V6 F4 
V=LV; 

- ?D>6545==O D5>G?LF<64FVW ?>DGL5=<E 4V?O=>>; 55D56?<65 EF46?5==O 4> D>4NG>7> L4DG 
�DG=FV6 O>V 747=4NFL =>7> <5E4=VG=>7> 7=OFFO, 74?G65==O F4 74>DV??5==O =>7> =4 4V?O=>4E 
?>65DE=56>7> 7<<6G F>M>. 

->4> DV7<G=<E D4>F>DV6 6??<6G =4 =46>>?<L=T E5D54>6<M5 (LG< F4 5?5>FD><47=VF=5 
6<?D><V=N64==O F4 V=LV): 

�4E<EF 6V4 LG<G F5D<F>DV=, O>V <56GNFL 7 46F><>5V?L=<<< 4>D>74<<, ?5D5454G4TFLEO 
74557?5G<F< ?5D5646=> 74 D4EG=>> EF6>D5==O ?D<4>D>6=VE 74E<E=<E 75?5=<E =4E4465=L F4 
4>FD<<4==O ?D46<? 75<?5>>D<EFG64==O 6 <564E 74E<E=<E E<G7 4>DV7 7 4>FD<<4==O< 
E4=VF4D=<E D>7D<6V6 77V4=> ��� �.2.3-5:2018. %<EF5<4 >D74=V74FVW 4>D>6=L>7> DGEG, O>4 
=4<VG5=4 >><??5>E>< 74E>4V6 75=5D4?L=>7> ??4=G E5?4 F4>>6 =4?D46?5=4 =4 6<DVL5==O 44=>W 
?D>5?5<<. 

�?O 74557?5G5==O =>D<4F<6=<E DV6=V6 LG<G =4 F5D<F>DVW >59T>FG 5=5D75F<G=>W 
V=DD4EFDG>FGD< (FD4=ED>D<4F>D=>W ?V4EF4=FVW) ?D>?>=GTFLEO: 

- 6V4 6G?<G=>W <5D56V =4 6V?L=<E F5D<F>DVOE V =4 4V?O=>4E =>6>7> >E6>T==O >D74=V74FVO 
?D>F<LG<>6>7> >75?5=5==O 6V4?>6V4=> 6<<>7 �%� 173-96 (?.5.25); 

- =4 F5D<F>DVW VE=GNG>W 745G4>6<, 45 4>EO7F< =>D<4F<6=<E DV6=V6 LG<G 74 D4EG=>> 
>75?5=5==O =5<>6?<6>, 6?D>64465==O >>=EFDG>F<6=<E LG<>74E<E=<E 74E>4V6 4?O ?5DL>W ?V=VW 
745G4>6< LG<>74E<E=V 5>D4=<, LG<>74E<E=V 6V>>==V 5?>><, LG<>?>7?<=4NGV >5?<FN64?L=V 
<4F5DV4?<); 

 
�65D5?4 5?5>FD><47=VF=>7> 6<?D><V=N64==O =4 F5D<F>DVW - =5 6<O6?5=>. �4=4L4DF=>- 

??4=G64?L=V 74E>4<: 
- D>D<G64==O 75?5=<E =4E4465=L E?5FV4?L=>7> ?D<7=4G5==O (E4=VF4D=>-74E<E=V 7>=<, 

?D>F<LG<>65 >75?5=5==O 6G?<G=>W <5D56V); 
- GFD<<4==O 75?5=<E =4E4465=L 6 74>D>6><G, G?>DO4>>64=><G EF4=V, EF6>D5==O F4 

D>D<G64==O 45>>D4F<6=<E F4 5D5>F<6=<E 6 5>>?>7VG=><G 6V4=>L5==V, EFV=><E 4> F5E=>75==<E 
=464=F465=L =4E4465=L, E>65DV6 V ?4D>>6<E 7>=; 

- >D74=V74FVO 5>>?>7VG=>W <5D56V 74 D4EG=>> 75?5=<E =4E4465=L 7474?L=>7> >>D<EFG64==O, 
7V4D>7D4DVG=<E E<EF5<, WE ?D<55D56=<E 74E<E=<E E<G7 F>M>, O> 465D5? 6V4=>6?5==O V 
755D565==O 5>>?>7VG=>7> 54?4=EG F4 74557?5G5==O EF4?>7> D>76<F>G F5D<F>DV= =4E5?5=<E 
?G=>FV6; 

�?D>64465==O 6<M5747=4G5=<E 74E>4V6 E?D<OF<<5 ?>>D4M5==N G<>6 ?D>6<64==O F4 
6V4?>G<=>G =4E5?5==O, >74>D>6?5==N =46>>?<L=L>7> E5D54>6<M4 F4 ?V46<M5==N =>7> 
5>>?>7VG=>W EFV=>>EFV 4> F5E=>75==<E =464=F465=L. 

 
11.8. �5�DG=FG64==O 6<5>DG 6<?D4644=<E 4?LF5D=4F<6, M> D>77?O44?<EO, >?<E 

E?>E>5G, 
6 O><= 74V=E=N64?4EO EFD4F57VG=4 5>>?>7VG=4 >FV=>4, G F><G G<E?V 5G4L-O>V 

GE>?44=5==O 
�D>5>F=V DVL5==O ?D<==OFV 6V4?>6V4=> 4> G<==>7> 74>>=>446EF64 '>D4W=< 6 74?G7V 

<VEF>5G4G64==O F4 45D646=<E 5G4V65?L=<E =>D<: 
- �>=EF<FGFVW '>D4W=< 6V4 28 G5D6=O 1996 D>>G; 
- �4>>=G '>D4W=< «�D> <VEF565 E4<>6DO4G64==O 6 '>D4W=V» 6V4 21.05.1997 No 280/97-�$; 
- �4>>=G '>D4W=< «�D> >E=>6< <VEF>5G4G64==O» 6V4 16.11.1992 No 2781-XII; 
- �4>>=G '>D4W=< «�D> D57G?N64==O <VEF>5G4V6=>W 4VO?L=>EFV» 6V4 17.02.2011 No 3038-

VI; 
- �5<5?L=>7> �>45>EG '>D4W=< 6V4 25.10.2001 No 2768-���; 
- �>EF4=>6< �45V=5FG �V=VEFDV6 '>D4W=< No 926 6V4 1 65D5E=O 2021 D>>G «�D> 

74F65D465==O �>DO4>G D>7D>5?5==O, >=>6?5==O, 6=5E5==O 7<V= F4 74F65D465==O <VEF>5G4V6=>W 
4>>G<5=F4FVW»; 



- ��� �.2.2-12:2019 «�?4=G64==O F4 745G4>64 F5D<F>DVW»; 
- ��� �.1.1-14:2012 «%>?44 F4 7<VEF 45F4?L=>7> ??4=G F5D<F>DVW» 6V4 12.03.2012 No 107; 
- ��� 5.1.1-22:2017 «%>?44 F4 7<VEF ??4=G 7>=G64==O F5D<F>DVW» 6V4 27.12.2017D. No 344; 
- �5D646=<E E4=VF4D=<E ?D46<? ??4=G64==O F4 745G4>6< =4E5?5=<E ?G=>FV6, 

74F65D465=<E =4>47>< �V=VEF5DEF64 >E>D>=< 74>D>69O '>D4W=< 6V4 19.06.1996 No 173; 
- �%&'-� � �.1.1-10:2010 «�4EF4=>6< 7 6<>>=4==O D>74V?V6 "�E>D>=4 =46>>?<L=L>7> 

?D<D>4=>7> E5D54>6<M4" G E>?44V <VEF>5G4V6=>W 4>>G<5=F4FVW» 6V4 28.12.2010 No 559; 
- �%&' � �.1.1-17:2013 «'<>6=V ?>7=4G5==O 7D4DVG=<E 4>>G<5=FV6 <VEF>5G4V6=>W 

4>>G<5=F4FVW» 6V4 01.04.2013 No 119; 
- �=L<E 74>>=>446G<E F4 =>D<4F<6=>-?D46>6<E 4>FV6 <VEF>5G4V6=>W 4VO?L=>EFV. 
�D4DVG=V <4F5DV4?< 45F4?L=>7> ??4=G F5D<F>DVW D>7D>5?5=V =4 >4DF>7D4DVG=V= >E=>6V 

<4ELF45G 1:1000 4>?>6=5=V <4F5DV4?4<< �5D646=>7> 75<5?L=>7> >444EFDG, 6<EV4=>N 
V=D>D<4FVTN EF4=>< =4 2022 D. 

 
11.9. �4E>4<, ?5D5454G5=V 4?O 74V=E=5==O <>=VF>D<=7G =4E?V4>V6 6<>>=4==O 

4>>G<5=F4 45D646=>7> ??4=G64==O 4?O 4>6>V??O, G F><G G<E?V 4?O 74>D>69O =4E5?5==O 
�V4?>6V4=> 4> �4>>=G '>D4W=< «�D> D57G?N64==O <VEF>5G4V6=>W 4VO?L=>EFV» E>?44>6>N 

G?D46?V==O G ED5DV <VEF>5G4V6=>W 4VO?L=>EFV T <>=VF>D<=7 EF4=G D>7D>5?5==O F4 D54?V74FVW 
<VEF>5G4V6=>W 4>>G<5=F4FVW 6EVE DV6=V6 ??4=G64==O F5D<F>DVW. �D74=< G?D46?V==O G ED5DV 
<VEF>5G4V6=>W 4VO?L=>EFV ?D< 6<>>=4==V E6>WE ?>6=>6465=L >>=FD>?NNFL EF4= D>7D>5>< 
<VEF>5G4V6=>W 4>>G<5=F4FVW =4 6EVE EF44VOE ?D>5>FG64==O F4 4>E?V46GNFL EF4= D54?V74FVW 
<VEF>5G4V6=>W 4>>G<5=F4FVW. �4>47>< �V=D57V>=G '>D4W=< 6V4 01.09.2011 No 170 
D57?4<5=FGTFLEO ?>DO4>> 6545==O <VEF>5G4V6=>7> <>=VF>D<=7G. �>=VF>D<=7 D54?V74FVW 
<VEF>5G4V6=>W 4>>G<5=F4FVW 3 F5 E<EF5<4 >5?V>G, 4=4?V7G F4 >FV=>< D4>F<G=<E 7<V= 
E4D4>F5D<EF<> >5'T>FV6 <VEF>5G4G64==O V E>FV4?L=>- 5>>=><VG=>7> EF4=G F5D<F>DVW, 6 ?>DV6=O=V 
7 ?D>5>F=<<< ?>>47=<>4<<, M> 74F65D465=V <VEF>5G4V6=>N 4>>G<5=F4FVTN V E?DO<>64=V =4 
74557?5G5==O EF4?>7> D>76<F>G F5D<F>DV= 7 GD4EG64==O< 45D646=<E V 7D><44EL><E V=F5D5EV6. 

�> 74644=L �>=VF>D<=7G 6 ED5DV >E>D>=< 4>6>V??O, G F><G G<E?V 74>D>69O =4E5?5==O 
=4?56<FL 75VD ?>>47=<>V6 V=D>D<4FVW: 

- 6<>>=4==O 74E>4V6 ?D>7D4< 5>>=><VG=>7> V E>FV4?L=>7> D>76<FG F5D<F>DV=; 
- EF4=G 4>6>V??O; 
- V=65=5D=<E, 75>?>7VG=<E F4 7V4D>?>7VG=<E 6<LG>G64=L; 
- >FV=>< 5>>?>7VG=>7> F4 E4=VF4D=>-7V7VT=VG=>7> EF4=G 75<5?L, 6>4=>7> F4 ?>6VFDO=>7> 

54E5==V6, DV6=V6 LG<>6>7>, 5?5>FD><47=VF=>7> F4 D44V4FV==>7> 745DG4=5==O; 
- E?>EF5D565=L 74 D56<<>< 7V4D><5F5>D>?>7VG=<E O6<M: ?46<=, E5?V6, DV6=O ?>65DE=56<E 

6>4; 
- 74F>??5==O ?46>4>>6<<< 6>44<<, D4=>=V6 V<>6VD=<E ?D>64?V6 F4 7EG6V6; 
- G7474?L=5=<E >5EO7V6 ?D<D>4=>-D5EGDE=>7> ?>F5=FV4?G, DV6=O F4 G<>6 =>7> 

6<>>D<EF4==O; 
- E4D4>F5D<EF<>< >74>D>6G>-D5>D54FV==>7> F4 FGD<EF<G=>7> ?>F5=FV4?G; 
- E4D4>F5D<EF<>< ?D<D>4=>W F4 F5E=>75==>W 557?5><; 
- EF4F<EF<G=>W 76VF=>EFV F4 E?5FV4?L=<E =4G>>6<E 4>E?V465=L M>4> EF4=G 74>D>6'O 

=4E5?5==O F4 6??<6G =46>>?<L=L>7> ?D<D>4=>7> E5D54>6<M4 =4 74>D>6'O =4E5?5==O; 
- >FV=>< E4=VF4D=>-7V7VT=VG=>7> EF4=G 75<5?L, 6>4=>7> F4 ?>6VFDO=>7> 54E5==V6, DV6=V6 

LG<>6>7>, 5?5>FD><47=VF=>7> F4 D44V4FV==>7> 745DG4=5==O; 
�>=VF>D<=7 ?5D5454G4T ?D>6545==O F4><E 74E>4V6: 
- 6<7=4G5==O >5'T>F4 �>=VF>D<=7G; 
- 75VD 44=<E, M> 74557?5GGNFL >FD<<4==O D57G?LF4FV6 �>=VF>D<=7G; 
- >5D>5>4 >FD<<4=<E 44=<E 6 ?D>F5EV �>=VF>D<=7G; 
- 4=4?V7 >FD<<4=<E 44=<E 6 ?D>F5EV �>=VF>D<=7G; 
- EFDG>FGDG64==O 547 44=<E 74 75>?D>EF>D>6>N V=D>D<4FVTN �>=VF>D<=7G, M> 

74557?5GGNFL 755DV74==O F4 >?5D4F<6=5 6<>>D<EF4==O >FD<<4=>W V=D>D<4FVW. 
�>=VF>D<=7 ?D>6>4<FLEO ?>EFV==>, =>7> D57G?LF4F< 74=>EOFLEO G 547G 44=<E 

<VEF>5G4V6=>7> >444EFDG F4 >D>D<?ONFLEO G 6<7?O4V 4=4?VF<G=>7> 76VFG, O><= 6D4E>6GTFLEO ?V4 



G4E D>7D>5?5==O ?D>7D4< E>FV4?L=>-5>>=><VG=>7> D>76<F>G F4 6=5E5==O 7<V= 4> <VEF>5G4V6=>W 
4>>G<5=F4FVW. 

&5E=>?>7VG=4 E>?44>64 �>=VF>D<=7G 6EF4=>6?NTFLEO 7 GD4EG64==O< ?>>47=<>V6 
V=D>D<4FVW �>=VF>D<=7G V ?D>7D4<=>- F5E=VG=<E >><??5>EV6 >5D>5>< V=D>D<4FVW F4 6<4G 
6<EV4=<E <4F5DV4?V6 7 6<7=4G5==O< F5E=>?>7VG=>W EE5<< ?D>6545==O D>5VF >4<5D4?L=>W 
>5D>5>< <4F5DV4?V6 E?>EF5D565=L, ?5D5?V>>< D>5>G<E >?5D4FV= 75>DG ?>>47=<>V6, WE 
?4D4<5FDV6 F>G=>EFV F4 D>D<G64==O 547< 44=<E. 

 
11.10. �?<E =<>6VD=<E FD4=E>>D4>==<E =4E?V4>V6 4?O 4>6>V??O, G F><G G<E?V 4?O 
74>D>69O =4E5?5==O (74 =4O6=>EFV) 
�<E>4OG< 7 75>7D4DVG=>7> ?>?>65==O F5D<F>DVO 45F4?L=>7> ??4=G64==O =<>6VD=<E 

FD4=E>>D4>==<E =4E?V4>V6 7>E?>44DEL>4 4VO?L=VEFL F4 ?D<D>4=5 E5D54>6<M5 =4 EGEV4=V 45D646< 
=5 <4T. 

 
11.11. $57N<5 =5F5E=VG=>7> E4D4>F5DG V=D>D<4FVW, ?5D5454G5=>W ?G=>F4<< 1-10 FVTW 
G4EF<=<, D>7D4E>64=5 =4 L<D>>G 4G4<F>DVN 
�5F4?L=<= ??4= T <VEF>5G4V6=>N 4>>G<5=F4FVTN <VEF56>7> DV6=O, O>4 45F4?V7GT 

?>?>65==O 75=5D4?L=>7> ??4=G =4E5?5=>7> ?G=>FG, ?4D4<5FD< 745G4>6< 75<5?L=<E 4V?O=>> 7 
<5F>N D>7<VM5==O >59T>FG 5G4V6=<FF64, D>D<G64==O ?D<=F<?V6 ??4=G64?L=>W >D74=V74FVW 
745G4>6<, GF>G=5==O 6 5V?LL >DG?=><G <4ELF45V ?>?>65=L EE5<< ??4=G64==O F5D<F>DVW 
D4=>=G, 6<7=4G5==O ??4=G64?L=<E >5<565=L 6<>>D<EF4==O F5D<F>DVW 77V4=> 7 45D646=<<< 
5G4V65?L=<<< F4 E4=VF4D=>-7V7VT=VG=<<< =>D<4<<, D>D<G64==O ?D>?>7<FV= M>4> <>6?<6>7> 
D>7F4LG64==O >59T>FG 6 <564E >4=VTW ?D>5>F=>W F5D<F>DVW V7 4>FD<<4==O< 6<<>7 
<VEF>5G4V6=>7>, E4=VF4D=>7>, 5>>?>7VG=>7>, ?D<D>4>>E>D>==>7>, ?D>F<?>656=>7> F4 V=L>7> 
74>>=>446EF64 7 <5F>N 74?GG5==O V=65EF<FV= 77V4=> V=F5D5EV6 F5D<F>DV4?L=>W 7D><44<, 74E>4V6 
M>4> D54?V74FVW <VEF>5G4V6=>W ?>?VF<>< D>76<F>G F5D<F>DVW D4=>=G, 77V4=> ?.4.1. ��� �.1.1- 
14:2012 «%>?44 F4 7<VEF 45F4?L=>7> ??4=G F5D<F>DVW», 6<7=4G5==O <VEF>5G4V6=<E G<>6 F4 
>5<565=L 745G4>6< 75<5?L=>W 4V?O=><. 

�V4 G4E ?D>5>FG64==O 45F4?L=>7> ??4=G 6D4E>64=> <VEF>5G4V6=G 4>>G<5=F4FVN: 
- �5=5D4?L=<= ??4= <. %FD<= 
�V?O=>4 ?D>5>FG64==O =4 44=<= G4E =5 745G4>64=4. 
� FV?><G EF4= =46>>?<L=L>7> E5D54>6<M4 =4 F5D<F>DVW ?D>5>FG64==O <>6=4 

E4D4>F5D<7G64F< O> 4>5D<=. 
%?V4 747=4G<F<, M> ?D>DV?L 4VO?L=>EFV >59T>FG V=65=5D=>W V=DD4EFDG>FGD< 

(FD4=ED>D<4F>D=4 ?V4EF4=FVO) =5 =5E5 L>V4?<6<E =4E?V4>V6 4?O 74>D>6'O =4E5?5==O <. %FD<=. 
�V4?>6V4=> 4> 45D646=>W ?>?VF<>< 6 74?G7V 5=5D7>755D565==O, 5>>?>7VG=>W 557?5><, 

D4FV>=4?L=>7> 6<>>D<EF4==O ?D<D>4=<E D5EGDEV6, ?D< 5G4V6=<FF6V >59T>F4 4>FV?L=> 
6<>>D<EF>6G64F< EGG4E=V 6<E>>>5D5>F<6=V 5=5D7>755DV74NGV F5E=>?>7VW F4 <4F5DV4?<. 

� FV?><G, D>7D>5?5=<= G 6V4?>6V4=>EFV 4> 45D646=<E 5G4V65?L=<E =>D<, E4=VF4D=<E =>D< 
V ?D46<? ?D>5>F <VEF>5G4V6=>W 4>>G<5=F4FVW =5 <4F<<5 =574F<6=<E =4E?V4>V6 6<>>=4==O 
4>>G<5=F4 45D646=>7> ??4=G64==O. 

�D>T>F>< ?5D5454G5=> >><??5>E=G V=65=5D=G V=DD4EFDG>FGDG, M> 6>?NG4T, 
5?5>FD>?>EF4G4==O, >D74=V74FVN E4=VF4D=>W >G<EF><, 75>DG 4>M>6<E 6>4. �47=4G5=V 
4>E?V465==O F4 D>7D4EG=>< =46545=V 6 D>74V?V «�=65=5D=5 74557?5G5==O F4 D>7<VM5==O 
<47VEFD4?L=<E <5D56, E?>DG4». 

�D>T>F>< =5 ?5D5454G4TFLEO 7=5E5==O (6<DG5>4) VE=GNG<E 75?5=<E =4E4465=L. 
�<M5 ?5D5D4E>64=V ?5DE?5>F<6=V 74?D>64465==O =4=5E5=> =4 6V4?>6V4=<E >D5E?5==OE 

�5F4?L=>7> ??4=G F5D<F>DVW 6 G<>6=<E ?>7=4G5==OE F4 7=4>4E. 
�VE?O 74F65D465==O 4>>G<5=F4FVW >D74= <VEF56>7> E4<>6DO4G64==O <4F<<5 <>6?<6VEFL 

?D<=<4F< G?D46?V=EL>V DVL5==O M>4> 6?>DO4>G64==O F5D<F>DV=, ?>>D4M5==O >G?LFGD=>-
?>5GF>6>7> >5E?G7>6G64==O =4E5?5==O F4 VE=GNG>7> DG=>FV>=4?L=>7> 7>=G64==O F5D<F>DVW, 
G4>E>>=4?5==O 6G?<G=>-4>D>6=L>W <5D56V, 74557?5G5==O D>D<G64==O ?>6=>FV==>7> 6<FFT6>7> 
E5D54>6<M4. 



 
 
 
 
 
 
 
 
 
 

�D4DVG=V <4F5DV4?< 


